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5. Allthe answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
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. The permissible thickness of plastic covers to be used especially for packaging

foods is
a) 100 microns

b) 10 microns

c) 40 microns d) 20 microns

YT WBess dﬁw a&ﬁd’ eda{l 5500 ﬁodi“eéﬁ SOTO3RENTLIBOT ?

a) 100w

b) 100:#,

. The disease hepatitis is caused by

a) X-rays

c) Contaminated water

aéadé%&sm—*" FOS030 VTOT mcmrbcjd

a) g - 0

b) Je@cdme A8TeD

. Terrace forming is practiced in the

a) Hills

b) Plains

Soeenes XTI TROBTIT Tes

a) BRSBTS

b) RS2, B

. The region where river meets the sea

a) Delta b) Ecotone
RBOT, TN SO Fedoe won
a) B, b) ssErcsnea”

. Vermi composting is carried out by

a) Soil fauna

b) Earthworms

WROF FIOTREAON® LT TR 2N

a) d:sa:nzzesaﬁedo

b) 2Bz%h

GEdsms, ) 0SmE,

b) Radioactive rays
d) Allthe above

c) o ITE  d) BoedI 2R,

c) Deserts d) Coastal areas
c) RoTLhmEO d) Toowe Ties
c) Shore _d) Estuary
c) 3reo’ d) 2Be30
c) Fungi d) Insects
c) &ory, ~d) Bensd
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6.

10.

Besides sanitation, P.M. Narendra Modi's ‘Swachcha Bharath’ movement, addresses
a) Sewage treatment b) Solid waste management
c) Water treatment d) Air pollution control

Gl aptaeleth FeD03WS A%, 2T LIWCIRDR), T a’gjab-r@ée%dmd RedR B3 BFNS
BRRT), BET mraeciall

a) S eTO aba@'e%dea b) FSRE; DD
c) RO a’o@@eﬁdm d) VR ROF, 3
Development causing minimum damage to environment is

a) Slow development b) Rapid development
c) Sustainable development d) Allthe above

TR0, BT, 2033 BRRIR LRF AN BROD
a) P LR, b), dep; LWRD, c) Badenzikn  d) DT DR,

@

Smog refers to mix of

a) Smoke +Dem b) Smoke + Pallen
c) Smoke +Fog d) Smoke +\Water Vapour
Y Soale]
a) SN B AP b) Eer S8y ToeNn
¢) TR wE Woowd d) Ben =08 eOR B
. The organic matter content in solid wastes can be used to produce
a) Compost b) Biogas ¢) Humus d) Both(a)and (b)
ﬁﬁsaéz%cﬂe‘)mdm Rt TOMORRERTRY, E3 89 AR CRTT LUTTT 2 IRWBIR T
a) BOWPLAT, b) wodeeny A
Cc) DR d) (a) 3533 (b) OBER

The Child Labour (Prohibition and Regulation) Act of 1986 prohibits employing
children below the age of

a) 15years b) 18 years c) 16years d) 14 years
TROTROFS (?\m@qﬁ BT SR0IRR) 50903, 1986 H6o0 033953 WOIRES abﬁeéaigt RN
éﬁd:ﬁw%w&d: ? |

a) 15SRFNAD b). 18 WREAW c) 16 SN d) 14 SREND
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12.

13.

14.

15:

16.

Normal body temperature of an adult is

a) 98.6°F b) 96.8° F C) 946°F d) 99.6°F
WODRTY WRRT, BB SURS

a) 98.6°F b) 96.8°F C) 846°F d) 99.6° F
The approach to Unani Medicine, first started in

a) Greece b) India c) Germany d) USA
0D B ﬁ%écxm BT IR Sesnd. [EBOAR ?

a) nex* b) ¢T3 C) ==F d) ©300.0R°. .
Technology for generation of energy from wastes is

a) Mineralization b) Sedimentation

c) Segregation d) Biomethanisation

83,%5,000 QoS éom@f?am?“ SUTOIRENRIT Zo3 23 _§$

a) DABesTED b) £2egdee

C) T eses0en d) 2cinmrgRems”

The “Rain forests of oceans” refers to

a) Coral reefs b) Minerals c) Seaweeds d) Sediments
VD) RNOT RTINS 0T FCDURET

a) =Y Qurish b) 2DV=ned c) sFo 3 d) Rowcdonsh
The following are general soil pollutants

a) Chemicals b) Pesticides c) Fertilizers d) All the above
JWNYEY, cdRTHzH mqusd@ LVOLVBRRZS ?

a) ToRROINBNEGD b) dee3moTEnsd c) 335 ews d) Soeds e
Pulse Polio Immunization was launched in India in

a) 1980 b) 1995 c) 1975 d) 1990
WUEnd) wHpedodne 028 TIOIDFT0 TR 00T DRE :

a) 1980 b) 1995 \ c) 1975 d) 1990
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17. Chemical adulterants for turmeric commonly used is

a) Cadmium chloride b) Copper sulphate

c) Lead chromate . d) Metanil yellow

09T, 2650308 RNEE SUTIRENFR DA OBORT WAY

a) zs'a@&obo BREC T b) HTO° R c) eﬁca‘ dpees  d) FotR* BRY
18. The vaccine used for polio prevention is

a) OPV b) DPT c) MMR d) BCG

TP eOSRERT, BBENEILO V03 RENRID ORT

a) OPV b) DPT c) MMR d) BCG
19. The natural habitat for Indian lions is

a) Nagarhole b) Gir forest c) Sunderbans d) KanhaNP

TDTEE0T A0S D d@@%-amﬁ BRRO?

a) PNTBRY b) no® &oes, ¢

C) RXOTO W, d) Tom 008y ¢0% OT, DR
20. The ecofriendly fuel is

a) Petrol b) LPG c) CNG d) Kerosene

BORC Ao BAO

a) R’ b) 2&°.&.%. c) RaF.%. d) gcneaT
21. Polio is caused by

a) Virus b) Protozoan c) Bacteria d) Fungi

FpeD03RE YOOLRNREYTY 03 RRTO0T ?

a) ag_sd—‘ b) p ctdnetint C) ©3,3¢000% d) &9¢cg,
22 Chlorination of water is done for

a) Removal of turbidity b) Disinfection

c) Increase in oxygen d) Decrease in oxygen

Qe0 imogaae%draaommas HOTIRO

a) MotBLINECI BT ' b) GREmE RERIRF O

C) SERWITE BB : d) eRwse 58S
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23.

24,

25.

26.

27,

28.

The Forest Conservation Act was enacied in

a) 1974 b) 1972 c) 1986 d) 1980
089, FOTFFED TIONT CIRE BRETE, 10IREE> 9
a) 1974 b) 1972 c) 1986 d) 1980

Which of these gases filter high energy solar radiations from reaching the earth’s
surface ?

a) Oxygen b) Nitrogen ¢) Ozone d) CO,
QINTS), CINT BROTY 72T é’bacﬁsaﬁ#a’gi &0 ?

a) BEEIT b) Jtip T C) dEpes® d) CO,
International Yoga Day is celebrated on

a) June 16 b) June 21 c) May 22 d) September 17
oeletent fevsovtolyys DTII), DO &5230R0%T ?

a) wRF" 16 b) zwea*21 c) Soe22 - d) Agowsr 17
Acid rain comprises of

a) Sulphuric acid and ozone b) CO, and nitric acid

¢) Sulphuric and nitric acids d) Sulphuric acid and CO,

S, BYORE, QOB BGE

a) AR 0T U W) Ledeea® b) CO, o=y Fess® waly

C) Aow 07 =02y FT G, d) meR 05 &), @) CO,
Starch and animal fats are used to adulterate

a) Paneer b) Milk c) Butter d) Khova
ANTE T 9,650 For), CARTT BRI SOTOIRENZTE 9

a) Jeo® b) &en c) ¥ d) 3eemo
Minamata disease is caused due to pollution by

a) Arsenic b) Lead c) Mercury d) Cadmium
QTRNE BNy 3TT0E clnemd SROF 8T SVOERMNBT ?

a) SRFE b) ez | C) JBYFO d) 800
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29.

30.

31.

680 5 N

Which among these, is a life style disease ?

a) Dysentery b) Obesity c¢) Jaundice d) Influenza
BRI %@o&}oa’ ePOEIITO TREN
a) 370 b) 3Rz, C) RORR d) 9 FRE3O0T?

Environmental Protection Act was passed in

a) 1990 b) 1981 c) 1986 d) 1974
EPA (e.—u’@';dd RoTgF TOWT) 0=, O3 BRETD, IORREYREDOE0 7
a) 1990 b) 1981 c) 1986 d) 1974

Vector for transmission of malaria is
a) Anopheles b) Aedes c) Housefly d) E. coli

¢ Saedenoin GRS 81 F9NE CIRPHTEO0E SRS ?

32.

33.

34.

a) BRI b) Q&R c) SR *d) w-deeg

Rickets is caused due to deficiency of

a) Vitamin—A b) Vitamin—D c) Vitamin—B d) Vitamin—C
e BRI O30 TERHB,T FRTBEN0T WIIBE ?
a) QI A b) &wor' D c) LS B d) Seeos C

Siddha system of medicine is most prevalent in

a) Madhya Pradesh b) Jharkhand ¢) Tamil Nadu d) AndhraPradesh
Rﬂé By eadd wdéojao B BRBEY, TR FoRBIOWTIBE

a) dazjﬁ_jzﬁeé b) REdF o C) BROFODTD d) wop TR
Coolant used in refrigerétors is
a) Nano liquids b) CFC ¢) Liquid N, d) Liquid gases
ByeBesso NS, VTCIRENROD BRBOE®

a) W BT b) CFC c) 3R JEre  d) TR B0
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35.

36.

37.

39.

The Ebola disease is caused by

a) Fungi b) Bacteria c) Viruses d) Protozoan
ATONSN) dmen’g fnletan

a) &deog, b) wRgedcdm c) 3= d) Spcednednem
Paddy field is an example of

a) Fresh water ecosystem D) Terrestrial ecosystem

c) Engineered ecosystem d) Marine ecosystem

VBT @Y ‘acﬁﬁ YVCOTOES

a) ebcé QeOS wWoxT b) e 03

C) 22088 TOAT d) 3@ o33

Thermal pollution causes

a) Increased CO, in water

b) I ncrease in BOD

c) Increase inCOD

d) Decreased dissolved oxygen in water

o e e, e — - e
SR O 00T 2T YVOERTIWTBITD

== -

a) 2039 CO, TRwes D08 b) BOD m=es 08

c) COD Zz=e D03 d) 2e03Y TONT RITE 383
National Tuberculosis Research Institute is located in

a) Jaipur b) Delhi c) Bengaluru d) Hyderabad
028,600 FORTREN RoZReT FeoT) 2=10]wd .

a) ¥®T b) T C) Lordrdd d) BT
Which of the following is not a Green House Gas ?

a) CO, b) CFC’s ¢) Methane d) Oxygen

33 BINSIYNFO, 3RO BT 08 4RO 80 2

a) CO, b) CFC nb C) Fe* d) &awss
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40. Black lung disease is an occupational hazard of

a) Iron ore mining b) Coppermining c¢) Coal mining d) Lead mining
BY), T, ABRES TR0 B3 FHNS CIRYTT NesroFod00n LB ?
a) ﬁwﬁ b) =&, c) 39T d) e
41. Wastes generated by discarded computer peripherals
a) Computer waste b) E-waste
c) Solid waste d) Hazardous waste
TOTREO T ROWORAT T34 35R2
a) ToFRUT® %K, b) a-Z%, C) PI|K d) SVFTT e
42. HIV infection mainly causes
a) Liverfailure b) Decreased immunity
c) Cancer d) Kidney failure
* HIV Roeoss sz, Homosd 47
a) QBETFONG ER0TT b) @eBeers 2§ BREICIINITYTO
C) WI0° d) SRZLBE BRod
43. Sewage finally flows into water bodies causing
a) Eutrophication b) Bioaugmentation
c) Biodegradation d) Bioaccumulation
BRYeS V) BORCTIRUNPT FeTUYTOOT ST BoFwI
a) cheineadeds® b) wodre ot
c) wodne BRET d) wodee wamN ST
44. Improper sanitation and disposal leads to
a) Ground water discharge b) Ground water loss
c) Ground water contamination d) Ground water recharge
T9% FFOF QDVDTIHTO0T BN TOT0
a) ©203RF o 0T b) wognro IR
C) ©oewFoO=NOT | d) 903z DT E
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46.

47.

48.

49,

a) Seawave energy

c) Tidal energy

ARNTT Snves aﬁoda@’pm“m@%a’ B8
a) BT, o 38

Cc) Brer 88

Predominant reason for global warming is

a) Land Pollution b) Air Pollution

H

US - 680

45. Removable energy generated from sea waves

D) Ocean thermal energy
d) Allthe above

b) =208 00T T8
d) Soed 2o,

¢) Water Pollution d) Solid Wastes

IONET BOTRE DBORBCEN 9E3 ézieéﬁca* SRS

a) We=RRO b) ¢ @ROF

Major impact of mining activity is
a) Stream/River silting

c) Water poliution

NESMDOTOD F0, FOFTD

a) IO/ BTN TR wesd

c) m;a‘me‘.’);ﬁa

Who is regarded as father of Yoga ?
a) Sushrutha b) Pathanjali
‘dpen’ AT 2B

a) RO b) @Bowd

WWF is an acronym for

a) Wildlife World Fund

c) World Wildlife Finance
WWEF & 27,8 dew

a) TGP DO Fow®

) S HLGF I,

€) 2¢03 SR, d) T=0.%

b) Dust pollution -
d) All of the above

b) ERTROTE BROT
d) 0695 R

c) Charaka d) Dhanvanthari

c) wos d) 3,30

b) World Wide Fund for Nature
d) Wildlife World Finance

b) =& FRe FOW® PO Je23o°
9 SegF s g,
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50. Deforestation in the long term leads to

a) Loss of biodiversity b) Loss of habitat

c¢) Soil erosion and drought d) All of the above

Sieiotats TR FN B0

a) e FIF IO T b) SFeied wmﬁm@ﬁ 3

C) PRRSS =08y wd d) 35 BedT e,
51. Geothermal energy is

a) Turbine energy b) Solarenergy

c) Heatenergy d) Electrical energy

BRNIF FE030 2od

a) me 33 b) =°0 3¢ C) e o8 d) dme 33
52. Radiations trapped on earth’s surface by green house effect are

é) X-rays b) IR rays c) UV rays + d) Allthe above

BT BTV BOFBIROD0TIN LR & eCORE 3089

a) §- 80 b) es&rfox) §3c0 C) ©&3ed¥$Tem d) 85303 e,
53. The units to measure noise levels is

a) Ohm b) Pascal c) Decibel d) Calorie

3T ﬁbmwdﬁa ATOOT FOINTT

a) waso® b) wore* c) B d) 5,dned
54. Which of the following is not a water conservation method ?

a) Improved irrigation b) Rain water harvesting

¢) Ground water removal | d) Reducing water wastage

QT VT ROTBES RBRY,

a) YUZE) DETHTO VT _ b) So¥ Do 030,

C) ©903%RF O BRGS . d) QeDS RREODE BEoINTTD
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56.

S7.

‘Tiger State’ was first referred to

a) West Bengal

c) Madhya Pradesh

33 IR TONY o, 2030 FEC30TT
a) =5z wored b) sooris

Smoking in public places is an offence
a) In restricted places

c) Yes

TR %@d@g BARITHS AROID

a) FoF) ﬁ@@rﬁ#@hmg

C) T

Recyclable solid wastes could be

US - 680

D) Kamataka
d) Gujarath
c) SFF3e3 d) rowoes®

b) Ininstitutions
d) In parks

b) Fgeondd) Bng
d) SURITINO, g

a) Paper b) Glass c) Metals - d) Allthe above

YR ORRTT 338, CurnE0ss ‘

a) w3 b) mowo c) €rtEndd d) 0O e,
58. Wildlife (Protection) Act was passed in

a) 1952 b) 1984 c) 1972 d) 1964

T esed (RogEen) ToSon 207 Sor e

a) 1952 b) 1984 c) 1972 d) 1964
59. Example of an inexhaustible resource

a) Coal b) Natural gas c) Fossil fuels d) Solar

ai:d:ﬁpsarﬁm%a)’ ﬁoaﬂa{%e;ii Ubiovntestorsd

a) 39T ~ b) m,RaE e c) ZPotovs d) Recbr3d
80. Goitre disease is caused by deficiency of

a) Zinc b) Iron c) lodine d) Calcium

nenoE Brens) vwd EISloElowblelapTyVrcta

a) 3 b) Bede0 c) scinedn  d) ®,Oodho
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61. Asthma is caused by the following pollutants

62.

63.

64.

65.

a) Pollen dust b) Particulates c) Ozone d) Allthe above
IR FIOSCIN BBOCT BOLWRIZT
a) Toandesw b) ZRY T c) Lpes® d) SO R,

Low blood platelet count is characteristic cf

a) Diabetes b) Malaria c) Dengue d) Cholera
0539, Bewr e ¥ "oss; RPRVVTHRODT B BRENB OTED
a) AT, b) =oejedod c) Bone, d) ®go

Adding non-food substances to food is called

_a) Alteration b) Mixing ¢) Adulteration d) Addition
838 5T BIS SN IR 2030 o
a) WRSRB b) &08 WRRPE  ¢) ok d) AeoRed

Sewage discharge into water bodies results in

a) Decreased BOD b) Increased in BOD
c) Decreased COD d) None of the above
Rk QTR ﬂmeéﬁv VBRI TOOT

a) 2.5 8. BRBOERMTO b) 2.%.8. ﬁm}_gﬁa@da
C) 2.0u8. TRWICIRNIFT d) CSRPTR B8

A biodiversity hot spot in India is

a) Nanda Devi b) 'Dimbam Ghats  ¢) Western Ghats d) NandiGhats
2 INSRNTS), SR TR WCSRETE TS Tt AR 7
a) SowRTeR b) Qoo TR, c) W punso  d) Jol 883,
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55. Theeffect of carbon monoxide released by automobiles is that in human systems, it

a) Reduces hydrogen b) Reduces oxygen
c) Reduces CO, d) None of the above

WHINOOT WEMBCIRG RWFS Sy, Faes DR FeE5Y. oing @od
FRFCIRMOZES ?

a) BWORTY b) &=
C) QoMown i &8 & d) caRYue we
The chemical DDT is
a) Semibiodegradable b) Biodegradable
¢) Non-biodegradable d) Naturally degradable
B.3.83. 00 32 TN CIR D680 TIACNT B ?
a) R wolLeBRES b) walsednzEies
¢) P -uleBiEwT d) 809 arigue’
Deficiency of which vitamin leads to night blindness "
a) Vitamin—C b) Vitamin—B c) Vitamin—D d) Vitamin—A
& ORI = 2eSS,T TRTECWeD Nelnpigerctod
a) VLWF - 3 b) QLT -8 C) VW - B d) 0EENT - @
Automobile air pollution is controlled by
a) Electrostatic precipitators b) Cyclone separators
c) Catalytic convertor d) Fabric filters
OBINTOT WA BRMOWCT VBRI TD SEALY
a) TER AT FaAIenT b) Fne® Amdes3o?,
C) BV IS LT d) WUT 07

. Inbiogas, the chief component is
a) Sulphur b) Carbon monoxide
c) Methane | d) Hydrogen
NSNS Boos), P
a) nogs . , b) oo Bemed @

c) e = d) moxse

'

SPACE FOR ROUGH WORK




